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: Answer all questions. The figures'in the rlght-
- hand margin indicate marks. .
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-Compare the stability. of oxidation:states

of 3d series elements with those of 4d
and 5d series elements.
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- TiCl, 'is.»applied in the formation of
'polytheneand V,0; is applied in the

| formation of H,SO, by contact method
as a catalyst. Explaiﬁ the reason.
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Elaborate the
- reduction” . processes in-

metals.
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Wnte down the IUPAC names of the |
followmg complexes - '
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¥ ,Explam the experlmental venﬁcatlon of

o ‘the Werners theory the four . types of
_ cobalt ammme compounds made -~ from
ammoma and cobalt (IIT) chlorlde
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Explain why iron can replace copper from
copper-sulphate solution but:silver cannot

replace zinc from zine i
. m zinc nitrate g 5
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Wrth clear example, explam the formatlon‘
of neutral metal atom by presence of a

partral ‘negative . charge on _ an

electronegatrve donor group What 1s the Y

name of thrs prmcrple 7
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Calculate  the . crystal ﬂeld stabrlrzatron-'.,f
energy for &> of tetranedral complex ion.
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'V On the basrs of whrch parameters the

spin state ‘of an octahedral complex. ion
edicted ? Also explain the
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What are heav1er lanthemdes and heawer e
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Explain the metal ammonia solut

their reactions in detail. . B ot




\fZ;:)imn:le Con.mgé.té ?"?ids‘féf.thé-:
(“),Sz_.._; |
(i) NH

(w) [AI(HZO)SQH]%

\. .

1

4 0ver)




LJ-1313

i B.Sc. (Part- -1T)
erm End Exammdtlon 2021

/

'CHEMISTRY
~ Paper-11
Organic Chetnis’tr’y
Time - Three HdurS] e ¥ [;Maxzmum Marks 33
e - i [Mzmmum Pass Marks: 11

S Hﬂﬂmﬁmﬁﬁmm%mw

Note : Answer all questlons The ﬁgures in: the right-
hand margm mdlcate marks
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: I:,xplam the dlfference between Syl and
Sn2 reation.
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EXplain the comparative “acidic strength
of alcohols and phenols. |

il & a'«rﬁ % fafy, wmﬁﬁ
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Write method of preparatlon, chemical
reactions (any two) and applications ofL.
glycerol. '
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Write Lederer-Manase reaction and its

" mechanism.
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. > Explain the following :

OF Houben—Hoesch reactlon :

(ii) Two methods of formation of alcohol
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Explain the greater reactivity of aldehyde
than ketones with'suitable example |
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Explain the followmg

(i) Rosenmuypg Ieaction

(zz) Meerweip. ~Ponn ndorf-y,
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FCH,COOH, 10 LOOH BrcHz’co‘OH,gé;
CICH,COOH e

By giving sultable reason, arrange the

following - acids -in 1ncreasmg order of
- acidity ; »

- FCH,COOH, ICH,COOH, BrCH. ,COOH,
CICH,COOH
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Explain the foIIowmg | .
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Explam the baSlC character of ammes
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Explam the followmg |
| (z) D1azot1sat10n reactlon

(i7) Nltratlon of benzene
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